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The series can be written as:
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Here the first term of the GPis a=x" and the common ratio is r=§5-=x:
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&, =sum of n terms,
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Then, &7 +35°%

= ['94-.-]2 + [Sznjz

[ ey

= |::Ij—r:|2 (I-IF]P)2+[1—.-'2”]2:|
= I:lazjz [1+ - o T T -Erz'?]

= an :
T (2-r% -2t r¥] =)

Also, &1(8;+53)

et o)

1-r 1-r 1-r

& i 2n n an
=m.[|[1—r:| {l—r ]+{1—r”1_r }]
=I:132:|2 [1-r=r"ar® 2™ - r" s 7% |
= Q i’jz [2—9‘2” —Er"+r“""] - (ii}

(i) = (i) Hence, 5,2 + 8,7 = 8, (55 +53)

Geometric Progressions Ex 20.3 Q15
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Let the seried be Sy + 80 + 39 + ...+ 5o

Itis given that @, = 1,8; = 3,33 = 3C, 84 = @°C, 3 = 3°C, ...
Sum of 2n term
S+ 3ot Syt F Sy
=14+3+3C+3C+aC°+..+2n term
=(1+a)+ac(l+a)+a%"(1+3)+...+n term

ek
=[a+1)w.

Geometric Progressions Ex 20.3 Q19.

Sum of first n term of G.P.
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Given,
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To find number of ancestors, we will find the sum of 2, 22,2,

w_
Mumber afancr:stors=%
= 2(1024-1)
= 2x 1023

= 2046



